DU BSc Physical Education N Sports Sciences

Topic:- PE BDC S2
1) Elevation helps reduce injury by

URIA 9 @ 233 ) IoTol A dIc DI BH Dol A dAcs et 3

[Question ID = 8244]

. Helping to support the weight of the limb/sist @& aster @1 Wieler @2ot 3 3G won [Option ID = 32970]

. Allowing white blood cells to be released to fight infection /i1t 3 cisol @ e «dd ¥ PPl @I sisan [Option ID = 32971]
. Reducing blood flow to the area/&iq 3 3> @ yas @ wa m2en [Option ID = 32972]

. Increasing blood flow to the area/&iq 3 3 @1 yars aaran [Option ID = 32973]

AW N =

Correct Answer :-
e Reducing blood flow to the area/&iq 3 ¥ @ yars @l @ ®wan [Option ID = 32972]

2) An ankle sprain is an example of which type of injury

cxor Bl A b goor &t dic &I T IgI80T 3
[Question ID = 8245]

Skin/eaar [Option ID = 32974]

Soft tissue/ora 3am [Option ID = 32975]

Hard tissue/®fder 3aa [Option ID = 32976]
Epithelial tissue /3uwmen awm [Option ID = 32977]

A w N =

Correct Answer :-
e Soft tissue/srar aw [Option ID = 32975]

3) Which one among the following elements/ions is essential in small quantities for development of healthy teeth but causes
mottling of the teeth if consumed in higher quantities?

I cidl @ G @ feru forworferRaa 3 1 Plol AT acda / 3RIeI B AT I AMAIAD 3, ciicpol AFED AL I Adol Dl UR Sidl I FRIE! Mredt
k14

[Question ID = 8246]

1. Iron/3mRe

[Option ID = 32978]
2. Chloride/achrss

[Option ID = 32979]
3. Fluoride/uciiss

[Option ID = 32980]
4. Potassium/drRfSrmer

[Option ID = 32981]

Correct Answer :-
e Fluoride/ucirss
[Option ID = 32980]

4) The vitamin necessary for coagulation of blood is

b D SteIa @ fre smagae faerfior 3
[Question ID = 8247]

. Vitamin B/Rictfior <t [Option ID = 32982]

. Vitamin C/Rrerfier =it [Option ID = 32983]

. Vitamin K/feifder @ [Option ID = 32984]

. Vitamin E. /Retfiors  [Option ID = 32985]

A W N -

Correct Answer :-
e Vitamin K/feiféor &> [Option ID = 32984]

5) Besides carbohydrates, a major source of energy in our food is constituted by

PIdlaE3c @ I, FHR HISlol A Hell B Tb YgRa Jd 3
[Question ID = 8248]



. Proteins/qi¢tar [Option ID = 32986]

. Fats/azm [Option ID = 32987]

. Minerals/aférst [Option ID = 32988]

. Vitamins/ferfder [Option ID = 32989]

A W N -

Correct Answer :-
e Fats/aam [Option ID = 32987]

6) Which of the following is a water-soluble vitamin and hence is required to be taken every day?

forrarferRaa 3 A1 ®lel AT urell 3 Fererofiar faeif¥er 3 3R sAfere 33 &2 3ot clelr sava® 37
[Question ID = 8249]

. Vitamin D/fderférer St [Option ID = 32990]

. Vitamin C/feifder it [Option ID = 32991]

. Vitamin K/fetféor @ [Option ID = 32992]

. Vitamin A/fdetféer w [Option ID = 32993]

A WN -

Correct Answer :-
e Vitamin C/ferfdar 2t [Option ID = 32991]

7) Which of the following has the highest calorific value?

forraiferRaa # A fpam1 Scader dardl arer 3?7
[Question ID = 8250]

. Carbohydrates/mfersse [Option ID = 32994]
. Fats/a=m [Option ID = 32995]

. Proteins/qi¢tar [Option ID = 32996]

. Vitamins/fderfder [Option ID = 32997]

A WN =

Correct Answer :-
e Fats/aam [Option ID = 32995]

8) The amount of Blood comes out from ventricle, per minute is called?

dfepet 3 T 6 a1 Rpaett formerdt 8, yfer froie war sirar 37
[Question ID = 8251]

. Cardiac cycle/=ea aag [Option ID = 32998]

. Cardiac output/@®1f$a® smseye [Option ID = 32999]

. Cardiac volume/®1f$ua dfegggr [Option ID = 33000]

. Ventricle volume/df¢aer &bt @ [Option ID = 33001]

AN w N -

Correct Answer :-
e (Cardiac output/ifSu® am3eye [Option ID = 32999]

9) The cause of postural defects / deformities is?

9k Refer-3y / farapfer @1 wrur 3?7

[Question ID = 8252]

1. Balanced diet/zigfer smsrR
[Option ID = 33002]

2. Malnutrition/guisor
[Option ID = 33003]

3. Extra diet/sifeif¥ep smer

[Option ID = 33004]
4. Sickness/dflamst

[Option ID = 33005]

Correct Answer :-
e Malnutrition/egureor
[Option ID = 33003]

10) During muscular contraction, if there is no change in the size of muscle, this contraction is

AR & FHagdel D Sirel, AR AR & PR A ®I ufvadet ol dlar 3, dl A6 el sl SIar 3-
[Question ID = 8253]

1. Isometric/smsdEieas [Option ID = 33006]

2. Isotonic/smsAcfora [Option ID = 33007]

3. lIsokinetic/smsilfcpaifeas [Option ID = 33008]

4. Kinetic/®rsafea [Option ID = 33009]



Correct Answer :-
e |sometric/smsAEics [Option ID = 33006]

11) The PNF method of developing flexibility was developed by

erchiciuot oI frmRia w2l a1 divsiew adler fiprds gRI fla e sk e
[Question ID = 8254]

1. Kennith Cooper/aferer ouz [Option ID = 33010]

2. Edward L. Fox/esas wel. wigar [Option ID = 33011]

3. Frank W. Dick/®@ssecy, 3@ [Option ID = 33012]

4. H. Kabat/wa. wree [Option ID = 33013]

Correct Answer :-
e H. Kabat/wa. @rac [Option ID = 33013]

12) The ability to realize the position of the body or it’s part in space and time is called

93k b Frerfer ar sicAf¥er sz RT3 3AD 1333 BI #EPRA Dol Bl 1A DY Dal Sl 3

[Question ID = 8255]

1. Balance Ability/=igeter swiar [Option ID = 33014]

2. Differentiation Ability/digesmra &t swrar [Option ID = 33015]

3. Jumping ability in space/siaf¥st 3 dgot & gwiar [Option ID = 33016]
4. Orientation Ability/sif$ifdeemrar g [Option ID = 33017]

Correct Answer :-
e Orientation Ability/siféifdearrat swiar [Option ID = 33017]

13) What is manufactured from the iron that we obtain from our diet?

AR 3B 3 Yrd 3ol arcl cliz A = forfdfa drar 37
[Question ID = 8256]

Blood cells/3p wifsrepraii [Option ID = 33018]
Hemoglobin/dsisenfdar [Option ID = 33019]

Bone Marrow/sif3er sisst [Option ID = 33020]

. Protoplasm/qicrensar [Option ID = 33021]

AW N =

Correct Answer :-
e Hemoglobin/Zlieifder [Option ID = 33019]

14) In Female Athletes Triad Osteoporosis, the mass of bone is reduced and is caused by low levels of

afgcr wercfic ¢rIs iR NIRRT A, 3381 ©I geIdrel @ Bldr 3 32 forgel a2 D BRI JIar 3
[Question ID = 8257]

Estrogen/waqstar [Option ID = 33022]

. Calcium/dfegrmr [Option ID = 33023]

. Vitamin-D/fdeifder-st [Option ID = 33024]

. Minerals/zafsrst [Option ID = 33025]

A wWN =

Correct Answer :-
e Estrogen/wdsiel [Option ID = 33022]

15) Which of the following statements is true about menstruation?

s et & an 3 forafaRaa & A dle AT Beror T8 3?7

[Question ID = 8258]
1. In a normal 28 day menstrual cycle you would expect menstruation to last approximately 1 3-15 days. /v w6 28 f&o1 @ a3 eni 3f sy 7R vt 6t

373t commer 1 3 3-15 fooil @ w3t [Option ID = 33026]
2. During menstruation the entire endometrium is shed. /a3 i & Glarer g2 vsEifczeT ot garr i & [Option ID = 33027]
During menstruation only the functional layer of the endometrium is shed, with the basal layer remaining intact. /s epi @& Glarer USRI bt Dact

DRICHD W DI I8RI Sl 3, 5w At v 9 &<dt & [Option ID = 33028]

4. Absence of menstruation always indicates an active pregnancy /3 eef &t siopuf¥eifer adton v Afdr swtfazen @ s w2t [Option 1D = 33029]

Correct Answer :-
e During menstruation only the functional layer of the endometrium is shed, with the basal layer remaining intact. /snf3rs eof & Slarer vswifczET 6t Daet

PRIFCHD U Dl IERI Sl 3, 3wt diet wed 9 3&dt & [Option ID = 33028]

16) How many byes will be given in upper half and lower half if the number of teams participating in a competition is 9?7

i fep=it gierRNi3rar 3 81T clol aretl &9l I I 9 &, dr Ju 3 3ii= forae el 321 i fpeel ardst fu smear?

[Question ID = 8259]
Upper half three and lower half four/3ust amen et siiz foraen smer ar [Option ID = 33030]

Upper half four and lower half three/3ust smen ar siiz foraen smen dior [Option ID = 33031]
Upper half five and lower half two/3ud smen ufa iz foraen smer a1 [Option ID = 33032]
Upper half two and lower half five/3ust smen gt siiz foren amer uf [Option ID = 33033]

A W N -



Correct Answer :-
e Upper half three and lower half four/3ust smen dior 3iiz foraen smem ar [Option ID = 33030]

17) How many numbers of matches will be played in first round of single elimination tournament with 11 teams?

11 &eil D 12 Ul IodcTol Colldic D usel Ik 3 el Ia el SIrest
[Question ID = 8260]

1. 2 [Option ID = 33034]

2. 3 [Option ID = 33035]

3. 4 [Option ID = 33036]

4. 5 [Option ID = 33037]

Correct Answer :-
e 3 [Option ID = 33035]

18) The amount of force a muscle can exert is known as

us dAiuefl @) fbdelr act Brcr AAddar 3, IA = wal SIar 37
[Question ID = 8261]

. Muscular Endurance/#iiori @1 ¢fist [Option ID = 33038]
Muscular Strength/stiemfSril &t srsrgedt [Option ID = 33039]

. Flexibility/erdtemuer [Option ID = 33040]

. Body composition/emsif¥® 3izaen [Option ID = 33041]

A WN -

Correct Answer :-
® Muscular Endurance/aiziifori @t ¢fizsr [Option ID = 33038]

19) Running, Swimming, and Biking are what kind of activity?

Sisall, 1ol 3ii? |5 dciiol b3 ave i aiferfafr 37
[Question ID = 8262]

. Anaerobic/vomlfdw® [Option ID = 33042]

. Dynamic/aiferefier [Option ID = 33043]

. Aerobic/w3fd® [Option ID = 33044]

. Static/3efew [Option ID = 33045]

A WN =

Correct Answer :-
® Aerobic/wifde [Option ID = 33044]

20) What is one benefit gained from physical activity will benefit your cardiovascular system?

93y arferfaf?r I I uas cnel ud> &6 YuTictl I aRIT ¢l 3IeM?

[Question ID = 8263]

. Reduce Stress/oma wa @3 [Option ID = 33046]

. Manage Stress/doIa @1 yderel a3 [Option ID = 33047]

. Increase Resting heart rate/smmet f&et & 62 gers [Option ID = 33048]

. Allows heart to pump blood more efficiently/&c=1 @1 aiférd qorctr 3 3B du Bl i sl Sar 3 [Option ID = 33049]

N wN -

Correct Answer :-
® Allows heart to pump blood more efficiently/zcw @t siféres Gorerdr 31 3B Ua ol bt sigpifer 3ar & [Option ID = 33049]

21) What is the number of Games of The Olympiad - Tokyo 2020

iciftrrs @ el & iz oot 8 - dra=it 2020
[Question ID = 8264]

1. XXXII [Option ID = 33050]

2. XXXI [Option ID = 33051]

3. XXX [Option ID = 33052]

4. XXIX [Option ID = 33053]

Correct Answer :-
o XXXII [Option ID = 33050]

22) The Butterfly Stroke is related with which game?

feracht 1 ot fopar Wer A FHdfera 3?7
[Question ID = 8265]

Kho-Kho/=it-xt [Option ID = 33054]
Kabaddi/@agst [Option ID = 33055]
Swimming/a&zbt [Option ID = 33056]
Cycling/zmriféreisr [Option ID = 33057]

A wWN =

Correct Answer :-



® Swimming/darht [Option ID = 33056]

23) The Somatotype in physical education is used for

ordif¥es f3rgmm & Adiciersu o1 SuRNeT a=il fapar sirar 3
[Question ID = 8266]

Lean body type./gaen 98k @1 ywr [Option ID = 33058]

Fatty body type./®¢t 98z @1 yeprz [Option ID = 33059]

Study of body type./98lz @ ymRr @1 sierrer [Option ID = 33060]
Study of school students. /3@t & ®IGi @1 sieerial [Option ID = 33061]

A W N -

Correct Answer :-
e Study of body type./98R @ ydR @1 steRriol [Option ID = 33060]

24) The women Gymnastics was included in Olympics game in which year?

Afden Rron3cd ol ilciftia il i b ad enfirer fosar srr e?
[Question ID = 8267]

1. 1928 [Option ID = 33062]

2. 1924 [Option ID = 33063]

3. 1920 [Option ID = 33064]

4. 1912 [Option ID = 33065]

Correct Answer :-
e 1928 [Option ID = 33062]

25) Which type of fitness in senior citizens is measured by Eight foot up and go test?

af¥ss seIi¥®! 3 5T g &l fiscol &t 3o B HUR 3R UEvT GRI ATUT SIIr 37
[Question ID = 8268]

1. Strength/efes [Option ID = 33066]

2. Lower body strength/oz @ offad sier &t drasa [Option ID = 33067]

3. Agility/aucter [Option ID = 33068]

4. Lower body endurance/9rlz @ ofia sfst @1 ¢test [Option ID = 33069]

Correct Answer :-
o Agility/auctar [Option ID = 33068]

26) To recede, rule of direction used in which sports.

"g2 Sifoll @ feru, fopar et 3 forrer f¥om @1 SuRileT fipen Sirar 3
[Question ID = 8269]

Kho-Kho/=d-zdt [Option ID = 33070]

Fencing/ars eemen [Option ID = 33071]

Badminton/dsfiiear [Option ID = 33072]

Golf/aiew [Option ID = 33073]

A WN =

Correct Answer :-
® Kho-Kho/x-zt [Option ID = 33070]

27) Lack of Vitamin B 12 results in

fareifdrer <t 12 &bt ot A ufyomar arar 3

[Question ID = 8270]

Scurvy/Fadt [Option ID = 33074]

. Beri-beri/a3-a3t [Option ID = 33075]

. Pernicious Anemia/smwfiférn uefiféren [Option ID = 33076]

. Angular Stomatitis/@wflr e@erter [Option ID = 33077]

A WN -

Correct Answer :-
® Pernicious Anemia/3mffirn wsftfdrm [Option ID = 33076]

28) The Harvard Step test is to measure

BIdS F¢U eI Bl Aol & fere 3

[Question ID = 8271]

1. Speed/sifer [Option ID = 33078]

2. Flexibility/erdtemuer [Option ID = 33079]

3. Coordinative ability/m@ieai® g@ar [Option ID = 33080]

4. Cardio vascular endurance/&c= &t stigedt [Option ID = 33081]

Correct Answer :-
e (Cardio vascular endurance/gga &t argedt [Option ID = 33081]



29) The bent knee sit up test is measured within a time of

3 3T geol -J31 D udigiur @ e wer
[Question ID = 8272]

30 sec./30 Jas [Option ID = 33082]
60 sec. /60 3ws [Option ID = 33083]
90 sec./90 Jws [Option ID = 33084]
120 sec./120 3ws [Option ID = 33085]

A W N -

Correct Answer :-
® 60 sec./60 Aws [Option ID = 33083]

30) Ardh- Matsendrasana is helpful in the treatment of

3g- IFAogRIol D IUAR i ASRIDB
[Question ID = 8273]

. Hypertension/3ca @am [Option ID = 33086]
. Asthma/srewn [Option ID = 33087]

. Back pain/dis g [Option ID = 33088]

. Bulimia/sgferférm [Option ID = 33089]

A W N -

Correct Answer :-
e Back pain/dis g [Option ID = 33088]

31) The Carbohydrate normally constitute the healthy diet in percentage of food is

PrElars3e Hislol D GfeIord 3 AR WU A Fa3 ABR
[Questlon ID = 8274]

50 % [Option ID = 33090]

60-65 % [Option ID = 33091]

60 % [Option ID = 33092]

70-75 % [Option ID = 33093]

AWN—\

Correct Answer :-
® 60-65 % [Option ID = 33091]

32) The 2024 Olympics games will be held at

2024 a1 3iiciftras W fba Ferrel uR RNfSIa fasen sireen?

[Question ID = 8275]

. Ankara/siorr [Option ID = 33094]

. Los Angles/eiiat waiet [Option ID = 33095]
. Parish/uf3a [Option ID = 33096]

. Tokyo/@a=i [Option ID = 33097]

A W N -

Correct Answer :-
® | os Angles/cif wsie=t [Option ID = 33095]

33) The distance of “ D” or shooting circle from goal in hockey is

3icbl 3 c1gar A "SY" A1 9ifdsr A bl ¢t B
[Question ID = 8276]

14.53 m/14.53 it [Option ID = 33098]
14.63 m/14.63 3it [Option ID = 33099]
15.53 m/15.53 aft [Option ID = 33100]
15.63 m/15.63 4t [Option ID = 33101]

A W N -

Correct Answer :-
® 14.63 m/14.63 3it [Option ID = 33099]

34) The VO2 max is related to

VO2 dia=ft @1 Jder fopd 8
[Questlon ID = 8277]
Anaerobic capacity/sm@arrdia gerr [Option ID = 33102]
. Aerobic capacity/wifde gwrar [Option ID = 33103]
. Muscles explosive capacity/#RuifSrI fdewica gwiar [Option ID = 33104]
. Nervous capacity/ae=rol & g [Option ID = 33105]

AWN—\

Correct Answer :-
® Aerobic capacity/wfd® g@ar [Option ID = 33103]

35) What is circumference of the football



Gedfer & ufsfer a=m 3

[Question ID = 8278]

66-70cm/66-70 3taft. [Option ID = 33106]
68-70cm/68-70 3uaft. [Option ID = 33107]
70-72cm/70-72 A3t [Option ID = 33108]
70-74cm/70-74 3usft. [Option ID = 33109]

AW N =

Correct Answer :-
® 68-70cm/68-70 33t [Option ID = 33107]

36) What is the height and width of goal post of Handball

[Question ID = 8279]

1. 3m X 3m/3X3 3it [Option ID = 33110]

2. 2m X 3m/2X3 3t [Option ID = 33111]

3. 2.5m X 3m/2.5X3 st [Option ID = 33112]
4. 3m X 4m/3X4 it [Option ID = 33113]

Correct Answer :-
® 2m X 3m/2X3 st [Option ID = 33111]

37) What is the minimum distance of free zone around the volleyball court

dicfidict @I @ arl 3k #w &I bl gt = 3
[Question ID = 8280]

1. 3 m/3 7t [Option ID = 33114]

2. 3.5m/3.5 # [Option ID = 33115]

3. 2.5m/2.5 # [Option ID = 33116]

4. 2 m/2 4 [Option ID = 33117]

Correct Answer :-
® 3 m/3 4t [Option ID = 33114]

38) Who is the Interim President / Chairmen of International Cricket Council.

iR fipade ufvas @ siafya sieagt diol 3
[Question ID = 8281]

1. Manohar Shashank /sweiiee greiics [Option ID = 33118]
2. Anurag Thakur/swRmer sz [Option ID = 33119]

3. Justin Langer/sif3cat dferz [Option ID = 33120]

4. Imran Khawaja/sRiel arst [Option ID = 33121]

Correct Answer :-
® Manohar Shashank /amiie2 grerias [Option ID = 33118]

39) The Khelo India Youth Games (KIYG), held annually in two age categories are-

el $f3ar g A, yferad 31 s>y aolf 3 smRifSa & st &
[Question ID = 8282]

Under-16 and under-20 years./3is2 -16 32 3is2 -20 et [Option ID = 33122]
Under-17 and under-20 years. /3is2 -17 3R 3is2 -20 et [Option ID = 33123]
Under-17 and under-21 years./3is2 -17 3iiz 3is2 -21 ad [Option ID = 33124]
Under-16 and under-19 years./3is2 -16 3li2 3is2 -19 et [Option ID = 33125]

A w N =

Correct Answer :-
e Under-17 and under-21 years./3is2 -17 iz 3is2 -21 ad [Option ID = 33124]

40) The Hospitality committee in sports competition is for

et yfernferar 3 snferea Afdifer fpara fere 3

[Question ID = 8283]

. Receive the guests/dgamil @t gra @2 [Option ID = 33126]

. Arrange for accommodation and food/smart 3iiz #isiel &t wrazen @& [Option ID = 33127]
. Arrange for play field facilities/et dicrol bt Jfdensii Bt serazen &3 [Option ID = 33128]
. Taking the guests for touring/d@sell @l 81 @ fere o sien [Option ID = 33129]

A w N =

Correct Answer :-
® Arrange for accommodation and food/smart aiiz #iistel &t wrazen @ [Option ID = 33127]

41) How many byes will be given if 19 teams are participating in a tournament

afe g gotldic 3 19 &3 a1 o 3t E dl fodet arsst 3w sidar



[Question ID = 8284]
1. 9 [Option ID = 33130]

2. 11 [Option ID = 33131]
3. 13 [Option ID = 33132]
4. 15 [Option ID = 33133]

Correct Answer :-

e 13 [Option ID = 33132]

42) is usually interpreted as a process to develop a strategy to achieve desired objectives to solve problem and to
facilitate action

DI AR U AHIRIT DI 3 Dol T PRArE DI JfAersIeld Follol @ fe1Q difdsa 32920l I gra @ @ fére v welifer faol¥a mwe &
fore ves yfepam @ wu 3 caRen & siedl 3
[Question ID = 8285]
Intramural/sggerz [Option ID = 33134]
Extramular/eaigjerz [Option ID = 33135]
Tournament/¢gifdic [Option ID = 33136]
Planning/zirsen [Option ID = 33137]

A w N =

Correct Answer :-
e Planning/=isen [Option ID = 33137]

43) The deficiency of vitamin C may cause

fererfdrot At I el a1 Dl 3

[Question ID = 8286]

1. Loss of leucocytes/e@Risc @1 ojw=1e [Option ID = 33138]
2. Grey hair/3] aret [Option ID = 33139]

3. Scurvy/Fadf [Option ID = 33140]

4. Impaired growth/feerst g1 fdort [Option ID = 33141]

Correct Answer :-
e Scurvy/I@df [Option ID = 33140]

44) A cut through the skin that is made during surgery is called

st D SRIcT Blol drctl o @ AR A Ub B¢ Bal Sl &
[Question ID = 8287]

1. Laceration/us] serrent [Option ID = 33142]

2. Abrasion/axur [Option ID = 33143]

3. Bruise/xia [Option ID = 33144]

4. Incision/dtr [Option ID = 33145]

Correct Answer :-
e |ncision/=tr [Option ID = 33145]

45) Which of the following is not a essential amino acid

forgoifeiRaa 3 A dlal a1 vab smagaed 3iicll vhirs odl &
[Question ID = 8288]

. Histidine/f&scstar [Option ID = 33146]

Leucine/eftor [Option ID = 33147]

Valine/aferst [Option ID = 33148]

Tyrosine/esARe [Option ID = 33149]

N

A w N

Correct Answer :-
e Tyrosine/esARme [Option ID = 33149]

46) Which of the following vitamin helps in iron absorption

forgstfciRae 3t A wiet 1 facIf¥er Al a5 sraenyvr d Jicg @war 3
[Question ID = 8289]

1. B12/dt 12 [Option ID = 33150]

2. B6/dt -6 [Option ID = 33151]

3. C/3ft [Option ID = 33152]

4. A/u[Option ID = 33153]

Correct Answer :-
e (/3 [Option ID = 33152]

47) If you wish to measure your grandfathers lower body flexibility which test would you suggest



Al 3Ma 31Ul GIoT & 9Kl @ creficiuel @Y HIUGH TG 3, Al TT Blol AT UGV JSIUaT
[Question ID = 8290]

. Chair stand test/d=r 3&s 23¢ [Option ID = 33154]

. Chair sit and reach test/<=Rr Bie iz uga e [Option ID = 33155]

. Bade stretch test/&s 3¢a ¢ [Option ID = 33156]

. Arm curl test/amf @ef e3c [Option ID = 33157]

AW N =

Correct Answer :-
e Chair sit and reach test/a=r Ric 3iiz uga ¢ [Option ID = 33155]

48) According to Rikli and Jones, which test is recommended for aerobic endurance.

¥l 3iiz Slioa1 @ 3IoLAR Dol AT ULlgIvl QAfID efiest @ ferg udigror fovam sirer 3
[Question ID = 8291]

1. 1 mile test/1 sfier wtemr [Option ID = 33158]

2. 9 minute run/walk/9 feie %1 / @ [Option ID = 33159]

3. Six minute walk/®s fifeie &t dger gt [Option ID = 33160]

4. 600 mts run/ walk/600 sficz cts/are [Option ID = 33161]

Correct Answer :-
e Six minute walk/®&s fierc & daer gt [Option ID = 33160]

49) The volume of air remaining in the lungs at the end of expiration is called

°q JAMH D 30T 3 BBt i 9 gar b AT DY Dar ST
[Question ID = 8292]

. Total lung capacity/dger Bwsi &t geiar [Option ID = 33162]

. Residual Volume/smfsre ameg [Option ID = 33163]

. Vital capacity/sscayuf swrar [Option ID = 33164]

. Minute Ventilation/feic dfecterst [Option ID = 33165]

A w N =

Correct Answer :-
e Residual Volume/smafsree airer [Option ID = 33163]

50) Which fractures are commonly seen in children because their bones are very soft and delicate.

I8 HAdR AEAAR U= Sl 3 SHT ST & TRIID Jotebl i3Sl dgd R 3R I il &
[Question ID = 8293]

1. Impacted/ysufada [Option ID = 33166]

2. Green stick/sd @st [Option ID = 33167]

3. Simple/3er [Option ID = 33168]

4. Depressed/ssra [Option ID = 33169]

Correct Answer :-
e Green stick/s$t &1 [Option ID = 33167]

51) The force resisting the motion when a body (such as a ball, tire etc.) rolls on a surface is called

S @1E fiis (31 3ig, orR 3nfe) fpil s ur gemar & al a1fer @1 faRer a0t ara ac el 3
[Question ID = 8294]

Sliding Friction/ft2ietol arenr adur [Option ID = 33170]

Rolling Friction/feisr axfor [Option ID = 33171]

Static Friction/8feras ador [Option ID = 33172]

Kinetic Friction/rselfe® aur [Option ID = 33173]

A w N -

Correct Answer :-

e Rolling Friction/3Afeier afur [Option ID = 33171]

52) A skater gliding on a smooth surface of ice has a tendency of continue gliding on a straight line with a constant speed is
an example of

9% DI Ripoll e U= 3ciss Dl dlell TP IDeR 3 U forar sifer @ 12 el 31 ur sersf3st Sl ot & ygfa aiedl @
[Question ID = 8295]

Law of inertia/stsear ot formt [Option ID = 33174]

Law of acceleration/cazur @1 forwr [Option ID = 33175]

Law of reaction/yfeifapznr a1 former [Option ID = 33176]

Friction/=mfur [Option ID = 33177]

A W N -

Correct Answer :-
e Law of inertia/stsar @i forw [Option ID = 33174]

53) Individual with this type of personality are not competitive in nature . they are easy going and patient



33 YR D Aftbea ardl cafeb Faumd A gferruelf odl 2l & a smireft A o 3@ & 3k Jeh T
[Question ID = 8296]

. Type A/erzu u [Option ID = 33178]

. Type B/ersu dt [Option ID = 33179]

. Type C/erwu C [Option ID = 33180]

. Type D/ewu D [Option ID = 33181]

AW N =

Correct Answer :-
e Type B/eru «t [Option ID = 33179]

54) Pushing against the wall is an example of which type of exercise

dlar @ Racis eraedT Soll b YR & RIRIE BT Ud IGET &

[Question ID = 8297]

1. a) Isotonic/amsiciform
[Option ID = 33182]

2. b) Isometric/m@frttr
[Option ID = 33183]

3. ¢) Isokinatic/smsN@rmod

[Option ID = 33184]
4. d) Combination of a and b/¥ 3z & T RIS

[Option ID = 33185]

Correct Answer :-
® b) Isometric/fcdkr
[Option ID = 33183]

55) It’s the ability to maintain maximum speed for maximum time or distance

B SMfIdaA A AT g3l D foru siferasaa a1fer gotrg 3xel &I grarar 3
[Question ID = 8298]

. Reaction ability/fuvaorer &t gwiar [Option ID = 33186]

. Acceleration ability/eazur &t g@rer [Option ID = 33187]

. Locomotor ability/cliewiics 6t gwiar [Option ID = 33188]

. Movement speed/fagzn &t aifer [Option ID = 33189]

A w N =

Correct Answer :-
® Locomotor ability/clreiaiicz &t ew@iar [Option ID = 33188]

56) The ability to combine the movement of different bodyparts for performing perfect sport movement is known as

WRBdT FUIE Jadic Dol D e ffeor disturczt @ acte @1 Rietol &t gRIar @I sl Siar &
[Question ID = 8299]

. Coupling ability /gt gwiar [Option ID = 33190]

. Differentiation ability/fsiger swren [Option ID = 33191]

. Orientation ability/sifdiféeermt gwien [Option ID = 33192]

. Adaptation ability/smametor srar [Option ID = 33193]

A w N =

Correct Answer :-
e Coupling ability/gsster swiar [Option ID = 33190]

57) Every yoga teacher must start the yoga session with

gD AT 181 Bl AT A B 9F3IT Dol aIfde
[Question ID = 8300]

. Pranayam/ymemer [Option ID = 33194]

. Asana/asmier [Option ID = 33195]

. Kriya/fezm [Option ID = 33196]

. Silence/silot wmyar [Option ID = 33197]

A w N =

Correct Answer :-
e Asana/smiel [Option ID = 33195]

58) Which one of the following is not the proved effect of meditation

forgaifeiRaa 3 1 dlat 21 &6t b1 R gama oidl @
[Question ID = 8301]



Decreases stress/doid @ @ & [Option ID = 33198]

Normalize blood pressure/zam @t w6 a3 [Option ID = 33199]
Normalize blood sugar/scTs 9pR @I A6 @ & [Option ID = 33200]
Increase cortisol /@i 3 gfig [Option ID = 33201]

A W N -

Correct Answer :-
® [ncrease cortisol/mifcet 3 gfig [Option ID = 33201]

59) If the skin or a fractured bone is intact the fracture is described as

AfS caan = sif¥ensisr 333t RDdR 3 Al Gaar or aviel fosar sk 3
[Question ID = 8302]

Complicated Fracture/siféet waaz[Option ID = 33202]

Impacted Fracture/ysnfda waaz[Option ID = 33203]

Simple or Closed Fracture/2ret =1 &g aaz[Option ID = 33204]
Compound Fracture/faifsya sif¥emsist [Option ID = 33205]

A WN -

Correct Answer :-
e Simple or Closed Fracture/3ret a1 §5 Baaz[Option ID = 33204]

60) Libero is associated with -

forerRY foparad> Jmmer SISt 331 3

[Question ID = 8303]

. Handball/2ssde [Option ID = 33206]

. Volleyball/areftarer [Option ID = 33207]

. Basketball/ara>earct [Option ID = 33208]
. Kabaddi/@asst [Option ID = 33209]

A WN -

Correct Answer :-
o Volleyball/arcftarer [Option ID = 33207]

61) Byes are given when the number of participating teams is not a power of

aré ad & SIrar 3 o/ 3eT ol archl el &t Fizs v o1fvp ordl Bkl 3
[Question ID = 8304]

1. Four/am= [Option ID = 33210]

2. Three/dsr [Option ID = 33211]

3. Two/at [Option ID = 33212]

4. Five/uia [Option ID = 33213]

Correct Answer :-
e Two/at [Option ID = 33212]

62) The process of nourishing the body with the help of food based on some basic principles of living is referred as

Shiol @ BB gforndl Rigidl @ 3meR uR silstal &I Acs A 9RR DI UIvvT ol bl yfpn ol el Sirdr 3
[Question ID = 8305]

1. Balanced Diet/zigfera smer [Option ID = 33214]

2. Nutrition/dwur [Option ID = 33215]

3. Supplementation/sigyzur [Option ID = 33216]

4. Diet/smer [Option ID = 33217]

Correct Answer :-
e Nutrition/dur [Option ID = 33215]

63) Saturated and Un-saturated are the two forms of

urefl G 3R el-ATHA S U 3
[Question ID = 8306]

1. Protein/qidlar [Option ID = 33218]

2. Carbohydrate/smierse [Option ID = 33219]
3. Fat/azm [Option ID = 33220]

4. Minerals/zaforst ueref [Option ID = 33221]

Correct Answer :-
e Fat/aar [Option ID = 33220]

64) A condition where the individual’s lower extremity is affected is called

up WAl Rrerfer siai cafes &t foracht arar M gaufara it 3 33 war sirar 3
[Question ID = 8307]



Quadriplegia/aqgeisrena [Option ID = 33222]
Paraplegia/sfia @ sisii @1 ugmmard [Option ID = 33223]
Paralysis/usmara [Option ID = 33224]
Hemiplegia/serfsrena [Option ID = 33225]

A W N -

Correct Answer :-
e Paraplegia/sfia @ 3isil @1 ugmara [Option ID = 33223]

65) A neurological disorder caused by a non - progressive brain injury or malformation that occurs during the brain
development in the child is known as

g 3i-yprfaeficn Aldem bl dic a1 Rl d> BRI Blol dIcll Td oRIdifme fadR Sil ac 3 Al dae® & famr @ il giar &
[Question ID = 8308]

Multiple Sclerosis/#cduct zacRiBrr [Option ID = 33226]

Cerebral Palsy/#sias® ugmara [Option ID = 33227]

Muscular Dystrophy/aiefir gidfort [Option ID = 33228]

Hemiplegia/srefsrara [Option ID = 33229]

AW N =

Correct Answer :-
e Cerebral Palsy/aif¥aws ugmara [Option ID = 33227]

66) Individuals with this type of disability find it difficult to receive information and communicate further

[Question ID = 8309]

1. Intellectual Disability/dife stemrar [Option ID = 33230]

2. Cerebral Disability/3nger f3afaferct [Option ID = 33231]

3. Neurological Disability/xfeepr idtft feaetiorar [Option ID = 33232]
4. Muscular Dystrophy/aimefir gfdfarer [Option ID = 33233]

Correct Answer :-
e |Intellectual Disability/difige sigwrar [Option ID = 33230]

67) In one of the postural deformity, the spine curves from side to side

aRed faDia # 3G to @Re Fgool A AlS B 3
[Question ID = 8310]

Scoliosis/urdagssiar [Option ID = 33234]
Kyphosis/a@sstar [Option ID = 33235]
Lordosis/smgsstar [Option ID = 33236]

Flat Foot/3mwiaet 8= [Option ID = 33237]

A w N =

Correct Answer :-
® Scoliosis/urdagssiar [Option ID = 33234]

68) An eating disorder that is characterized by self-induced starvation and significant weight loss is referred as

v 1 R BRI Fa-gfa yzerdt &t frdruar 3 siie sscayuf astel acrer @ wu 3 Hcfia fpan sirar 3
[Question ID = 8311]

Bulimia Nervosa/gfeifdrn srdfen [Option ID = 33238]

Anorexia Nervosa/uweiRfdRrr ardfzn [Option ID = 33239]

Osteoporosis/sii¥eaurR3rT [Option ID = 33240]

Menstrual Dysfunction /s ent & forfeerar [Option ID = 33241]

A w N =

Correct Answer :-
® Anorexia Nervosa/weiferrn srdfam [Option ID = 33239]

69) A fracture where the bone breaks into multiple fragments which are driven into each other is

U DA SIBl 5531 DF gbsl A ¢ Siiedl 3 il v g I Aanfera Al 3
[Question ID = 8312]

Impacted Fracture/ysnfaa waaz[Option ID = 33242]

Stress Fracture/demra waaz[Option ID = 33243]

Green Stick Fracture/sftar Bea waaz[Option ID = 33244]

Transverse Fracture/seyzer Gaaz[Option ID = 33245]

A w N =

Correct Answer :-
e |mpacted Fracture/gsnfda ®aaz[Option ID = 33242]

70) Acceleration runs are helpful in the development of

A0T 61 D fAwrRT 3 JerRIB 3l T
[Question ID = 8313]



Coordinative Ability/3ea=d gw@ar [Option ID = 33246]
Speed/>dis [Option ID = 33247]

Endurance/¢st [Option ID = 33248]

Muscular Speed/siiifsril <t sifer [Option ID = 33249]

A W N -

Correct Answer :-
e Speed/>dts [Option ID = 33247]

71) Two blocks of wood measuring 2x2x4 inches are required for which one of the test?

2x2x4 $a Aol dIcl ISl D 3l scifep fpad fere smagas 3?7
[Question ID = 8314]

1. 40 Yards Shuttle Run/40 st greet o1 [Option ID = 33250]

2. Harvard Step Test/ards ¥2u @3¢ [Option ID = 33251]

3. 50m Dash/50 dfiez 3ot [Option ID = 33252]

4. 1 Mile Rockport Test/1 amset 3fwuld 2 [Option ID = 33253]

Correct Answer :-
® 40 Yards Shuttle Run/40 swr gteet 3ot [Option ID = 33250]

72) The height of the bench in the Harvard Step Test for men is

gyl @ fru ards ¥eu e 3 da &l Had @
[Question ID = 8315]

18 inches/18 ga [Option ID = 33254]

12 inches/12 ga [Option ID = 33255]

20 inches/20 ga [Option ID = 33256]

14 inches/14 sa [Option ID = 33257]

A WN =

Correct Answer :-
® 20 inches/20 sa [Option ID = 33256]

73) Fast twitch Fiber is suited for events predominated by

wrRe Raa wrar gdadl aearsil & fore siopape 8
[Question ID = 8316]

Endurance/&=f [Option ID = 33258]

Speed/aifer [Option ID = 33259]
Flexibility/crefiemaer [Option ID = 33260]
Balance/ziqetet [Option ID = 33261]

AN wnN -

Correct Answer :-
e Speed/aifer [Option ID = 33259]

74) The lateral pressure exerted by the blood on the walls of the arteries is called

eforil bl SIaRI UR I FRI cPIT 318 urd card ®I ®al Sidl 3
[Question ID = 8317]

Stroke Volume/smara &t aigr [Option ID = 33262]

Blood Pressure/¥® amu [Option ID = 33263]

Heart Rate/&cw aifer [Option ID = 33264]

Cardiac Output/eceft forfar [Option ID = 33265]

A wWN =

Correct Answer :-
® Blood Pressure/z® ama [Option ID = 33263]

75) A disruption of the fibre of a muscle or tendon is referred as

T ARTUN AT DUSA D BIEaR D Rraced & wu 3 Slroll SIar 3
[Question ID = 8318]

1. Sprain/axa [Option ID = 33266]

2. Strain/deta [Option ID = 33267]

3. Dislocation/smeerazen [Option ID = 33268]

4. Fracture/siR¥esier [Option ID = 33269]

Correct Answer :-
e Strain/doema [Option ID = 33267]

76) The binding of the joints in order to reduce the angle between the two bones is referred as

3 &3zl @ dia @ DT DI DA Dol D 1T SISt D) qielell wal ST 3
[Question ID = 8319]



Extension/vazeret [Option ID = 33270]
Flexion/as [Option ID = 33271]
Abduction/smszur [Option ID = 33272]
Adduction/siférader [Option ID = 33273]

A WN -

Correct Answer :-
® Flexion/#rs [Option ID = 33271]

77) Movement that occurs towards the medial plane is referred as

Fadic wiol &I 3R Blal aret i gof @ Jadic DY sl i 3
[Question ID = 8320]

Flexion/ais [Option ID = 33274]

Adduction/aifdrader [Option ID = 33275]

Extension/ea=icer [Option ID = 33276]

Abduction/ggrer [Option ID = 33277]

A W N -

Correct Answer :-
e Adduction/aifdrador [Option ID = 33275]

78) The resistance to motion of two moving objects or surfaces that touch is called

Fuof @zor arctt <t acrelt awqaii an Aqasl & sifer & gferier ot wal SIrr &
[Question ID = 8321]

Flexion/als [Option ID = 33278]

Projectile/ggrr [Option ID = 33279]

Friction/ewzma [Option ID = 33280]

Extension/ea=idaret [Option ID = 33281]

A WN =

Correct Answer :-
® Friction/cw2ma [Option ID = 33280]

79) The 16 Personality Factor Personality Inventory was developed by

16 =aftbea ®R® ftbed sodcdl gRI R s sk e
[Question ID = 8322]

Hans Eysenck /& st [Option ID = 33282]

Gordon Allport/sifser sifemdid [Option ID = 33283]

Raymond B. Catell/33is @eet [Option ID = 33284]

James Cramer /3w @az[Option ID = 33285]

AN wnN -

Correct Answer :-
e Raymond B. Catell/3is dear [Option ID = 33284]

80) A lack of purpose and intentionally in one’s action, that is the relative absence of motivation is referred as

329 bt Bl MR SirergzI:? bt & drar 3, grun & spui¥erfer & wu 3 chifa e srar 3
[Question ID = 8323]

Intrinsic Motivation/stiaf¥es 2o [Option ID = 33286]

Extrinsic Motivation/as3t 9aunm [Option ID = 33287]

Amotivation/ea Jzun [Option ID = 33288]

Passion/ggget [Option ID = 33289]

AW N =

Correct Answer :-
® Amotivation/uw® Yzun [Option ID = 33288]

81) The standard distance for marathon race is :

1261 <is @ fere AeId gdl 3:

[Question ID = 8324]

1. 26 km/26 Rsaft [Option ID = 33290]

2. 42 km/42 fepstt [Option ID = 33291]

3. 42.195 km/42.195 fopelt [Option ID = 33292]
4. 42.125 km/42.125 fassft [Option ID = 33293]

Correct Answer :-
® 42.195 km/42.195 faseft [Option ID = 33292]

82) Indian Foot Ball team’s first appearance in Olympics was

aRdRI Be dict &a & siciftre i gscht suf¥erfer:
[Question ID = 8325]

1. 1936 [Option ID = 33294]
2. 1948 [Option ID = 33295]



3. 1952 [Option ID = 33296]
4. 1956 [Option ID = 33297]

Correct Answer :-
® 1948 [Option ID = 33295]

83) Who among one of the following official controls a Foot Ball match?

Ee dict dia @i forifea @zl arel siferer 3 A
[Question ID = 8326]

1. Areferee/us 3wt [Option ID = 33298]

2. An Umpire/u® smurr [Option ID = 33299]

3. Aline man/uva csat ot [Option ID = 33300]

4. Score Keeper/¥®r Gz [Option ID = 33301]

Correct Answer :-
® A referee/uvs w3t [Option ID = 33298]

84) Fatigue is the result of accumulation of

e[pTol T uldvma 3:

[Question ID = 8327]

1. Sulphuric Acid/3ewyf¥e ul¥ts [Option ID = 33302]
2. Lactic acid/cifdre swet [Option ID = 33303]

3. Acetic acid/uRifed swer [Option ID = 33304]

4. Lactose/dacrst [Option ID = 33305]

Correct Answer :-
® Lactic acid/difreas st [Option ID = 33303]

85) Psychology means

Fofdstrer T 3ref 3:

[Question ID = 8328]

Study of mental disorders/ i3 fpRI @1 srezrIer [Option ID = 33306]
Study of behavior/=masR @1 siezrIal [Option ID = 33307]

Study of sports person/xc fep @i siezrror [Option ID = 33308]

Study of society/ 3wt @ siezrrol [Option ID = 33309]

A w N =

Correct Answer :-
e Study of behavior/=masrR @1 siezrIer [Option ID = 33307]

86) The rich source of protein is

QloT T AYG et B

[Question ID = 8329]

Green Leafy vegetables/a$ uriere afssrit [Option ID = 33310]
Wheat /318 [Option ID = 33311]

Butter/sader [Option ID = 33312]

Soyabean/3irrefter [Option ID = 33313]

A wWw N =

Correct Answer :-
® Soyabean/3rmdlar [Option ID = 33313]

87) Matsyendrasana is also called

IRAogRIol off sl SIar 32

[Question ID = 8330]

Lord of the Fishes Pose/amsferil @1 smraret 3igr [Option ID = 33314]
Cobra pose/®at ggr [Option ID = 33315]

Dog Pose/3sfer drat [Option ID = 33316]

Tree Pose/<} drst [Option ID = 33317]

A w N =

Correct Answer :-
e |ord of the Fishes Pose/areferil @1 smraret 3igr [Option ID = 33314]

88) Which of the following asana can be performed after meal is

8liSTol @ a1 fordol 3 A Dlel AT 3M=Tol b= S IPar 3:
[Question ID = 8331]

Tadasan/arsriot [Option ID = 33318]
Bhujangasan/gsism=iet [Option ID = 33319]
Vajrasan/agpior [Option ID = 33320]
Gomukhasan/sigRarter [Option ID = 33321]

A w N =



Correct Answer :-
® Vajrasan/asjriet [Option ID = 33320]

89) Reaction time & frequency of movement per unit time are the elements of

gferfegn a1 3R omdifyas fopam <6t sgfer gfer A9rI s & aca &
[Question ID = 8332]

Speed/dis [Option ID = 33322]

Strength/eifes [Option ID = 33323]

Flexibility/erdfiemuor [Option ID = 33324]

Endurance/¢fizst [Option ID = 33325]

A W N -

Correct Answer :-

o Speed/=dts [Option ID = 33322]

90) When two objects are not moving relative to each other a force opposes or resists the lateral movement of the object.
This force is called

ST <Y 3ifeolac U gIY D ATAST SIeHAToT o1l BXY 3, Al dcl avq D ured 3ficiclel @I fRRXer A1 YfeRier wacn 3 33 del DI BBl Sl 3
[Question ID = 8333]

1. Static Friction/33ferp afor [Option ID = 33326]

2. Rolling Friction/3feier aefur [Option ID = 33327]

3. Sliding Friction/2udf axfor [Option ID = 33328]

4. Kinetic Friction/orsalfes adur [Option ID = 33329]

Correct Answer :-
e Static Friction/dfera adfur [Option ID = 33326]

91) Which of the following is not the instrument to measure the Personality of athletes?

werctlcl & waftpea ol Aual @ fore foifciRaa 3 A wlor A1 Iudm2wT oidl 37
[Question ID = 8334]

1. MMPI [Option ID = 33330]

2. Big Five inventory/ss} ufa sodcst [Option ID = 33331]

3. 16 PF Inventory/16 diuw sodest [Option ID = 33332]

4. SCAT/wa 2ft v & [Option ID = 33333]

Correct Answer :-
® SCAT/wa. 2ft wdt [Option ID = 33333]

92) The volume of the sports training may not incorporate.

et yfdrgror bt airqr foroifeiRaa 3 onfirer o1dl &t Al 3:
[Question ID = 8335]

. Duration of training/yfdismor &t smafér [Option ID = 33334]

. Distance covered/g#l a1 &t s [Option ID = 33335]

. Diet/smar [Option ID = 33336]

. Weight lifted/#2 3orn srr [Option ID = 33337]

AN wnN -

Correct Answer :-
e Diet/smer [Option ID = 33336]

93) The weight of the medicine ball in Barrow three item general motor ability test is

S &ff siEcH ARMIGA Alc? ST UIEor 3 gar 31 oI dslol 3
[Question ID = 8336]

1. 1.5 kg/1.5 fvag [Option ID = 33338]

2. 2.0 kg/2.0 Rsg [Option ID = 33339]

3. 2.5 kg/2.5 fwey [Option ID = 33340]

4. 3.0 kg/3.0 Rosg [Option ID = 33341]

Correct Answer :-
® 3.0 kg/3.0 fapsyr [Option ID = 33341]

94) In volley ball, The playing court is a rectangle measuring

dichl dict 3, g WISeT DI T RIAKPIR AT 3
[Question ID = 8337]

1. 20 x 9 m/20 x 9 afiez [Option ID = 33342]

2. 18 x 9 m/18 x 9 &t [Option ID = 33343]

3. 18 x 10 m/18 x 10 3ficz [Option ID = 33344]
4. 20 x 10 m/20 x 10 afiez [Option ID = 33345]



Correct Answer :-
® 18 x9 m/18 x 9 &t [Option ID = 33343]

95) In hand ball, a 9-metre line broken line, drawn 3 meters outside the goal-area line is called

a1el &l ofc &, v 9-dice cirsat ¢l g YT, e8I I D aree 3 ez el st 3
[Question ID = 8338]

Restraining line/foRIew cirser [Option ID = 33346]

Foul line/wr3¢t etrsat [Option ID = 33347]

Goal area line/em= 81 3z [Option ID = 33348]

Free throw line/w} ¢ emsar [Option ID = 33349]

A WN =

Correct Answer :-
e Free throw line/w} o emsar [Option ID = 33349]

96) In Kabaddi, one point scored, if player cross the line in court known as

Dagsl d, P 3icc FDR s siar 3, 3R Racrsl Wa @ ol 3 crsel Bl UR @2 SIIdl 3
[Question ID = 8339]

1. Half line/amft emsor [Option ID = 33350]

2. Baulk line/dica emser [Option ID = 33351]

3. Mid line/ae=r 3aar [Option ID = 33352]

4. Bonus line/dlert emser [Option ID = 33353]

Correct Answer :-
e Baulk line/dica arsat [Option ID = 33351]

97) What is the weight of a Table Tennis ball?

et forA 3l I astel a=IT 3
[Question ID = 8340]

1. 2.9 grams/2.9 spat [Option ID = 33354]
2. 2.7 grams/2.7 spar [Option ID = 33355]
3. 2.6 grams /2.6 s [Option ID = 33356]
4. 2.5 grams /2.5 spat [Option ID = 33357]

Correct Answer :-
® 2.9 grams/2.9 spar [Option ID = 33354]

98) Between the sexes, for same amount of muscles, there are

feiont @ e, JaITor AN A AR o ferg:

[Question ID = 8341]
1. No differences in strength/drmpa 3 @IS iR ot

[Option ID = 33358]

2. Differences in strength/oifp 3f sid=
[Option ID = 33359]

3. More strength in males/yul 3 siférd drpa

[Option ID = 33360]
4. More strength in females/afgemail 3 sifef arpa

[Option ID = 33361]

Correct Answer :-
e No differences in strength/arma 3 @IS sicR o6t
[Option ID = 33358]

99) The amount of air that can be expelled after maximal inspiration is called

P YU B3 Sifol D dIc 182 fordelol drcil sar bl Aqr P sl Sl 3:
[Question ID = 8342]

. Lung volume/®ws &t aigr [Option ID = 33362]

. Respiratory rate/saztet g2 [Option ID = 33363]

. Residual volume/smafsree amgr [Option ID = 33364]

. Vital capacity/#scagut serar [Option ID = 33365]

-

A wWw N

Correct Answer :-
® Vital capacity/#scayui gwrer [Option ID = 33365]

100) Rohan Bopanna belongs to which sports



[Question ID = 8343]

Tennis/2forr [Option ID = 33366]

. Badminton/dsfdicor [Option ID = 33367]
. Athletics/wedfeas [Option ID = 33368]
. Shooting/gfést [Option ID = 33369]

AW N =

Correct Answer :-
e Tennis/2ferar [Option ID = 33366]





